TYPE A — METAL STUD WALL

TOILET ACCESSORIES, CHALK
AND TACK BOARDS, BASE
'CABINETS, TALL STORAGE

CABINETS, SLIDING MARKER

‘BOARD ASSEMBLY

'MOUNT ITEMS TO PLATE

WITH #12 SELF-TAPPING

'SCREWS U.O.N.

LENGTH AS
REQUIRED TO

SUPPORT ITEM

NOTE:

NOT ALL ITEMS REQUIRING WALL BACKING HAVE BEEN LISTED.

9-1 A BACKING PLATE SCHEDULE

STUD FLANGES
SHALL NOT BE CuUT

18GA. MIN.
METAL STUD

6" x 1 1/4” x 16GA. TRACK
CHANNEL NOTCH AND
FASTEN TO STUDS w/
3-#12x1/2 SM.S.

1/2,,___:1,_0”
: MTSDOO1A-M7P2
16GA. x 87 LONG BENT PLATE @
4-0".c. w/ 2—#10 SCREWS AT
EACH END & 2-#10 SCREWS AT
TRACK
i H
"’!V“""‘
RO " mm AR - |NOTE: — v
2 2% |USE 14GA. BENT PLATE
MAX. — ;1O | AS COMPENSATION
CHANNEL AT SLOPE
ROOF FRAMING
AT SLOPED ROOF
s K 16 GA.
N COMPENSATION
- it CHANNEL ‘w/
B0l W0 2 T 1 1/2" FLANGE]
il L WIDTH
s “F— 9| }
< 00 i | #10 SM.S. PER DETAIL 9.2A
; \/\ ; EA. SIDE STEEL STUD WALL
—NO ATTACHMENT OF ;gAgﬁ w/ 4-#12x3/4™ TO
SHEATHING OR FINISHES 2" FLANGE CEILING JOIST & TRACK
WITHIN THIS AREA WIDTH
‘ 16GA. CONT.
CEILING JOIST FRAMING w/ 3-§8 scggg(ro EACH
WHERE OCCURS \ STUD & #8 SCREW @ TOP
T W & BOT. FLANGE OF EACH
g [:j CEILING JOIST

DR 5its oisecso

1.5 D2 OR 12" MIN.——

9.1

f
L\ ,fLDf,

1

£L2x2x14GA. CLIP
EACH JOIST

1.5 D OR 127 MIN.

F TYPICAL WALL TO CEILING AND WALL
TO FLOOR/ROOF CONNECTION 3/4-— 1o

OPEN SIDE OF
- STUD, TYP.

2—-#10x1”
HEAD SHT.

SCREWS N.

CUT TRACK CHANNEL—"

S. & FS.

WAFER
METAL .

s

7

MTSDGO 2A-M7P2

16GA. TRACK CHANNEL
HEADER (OR SILL). MAX.
3’0" SPAN

}

N

E

13"

MIN?

i

TYPE B — METAL STUD WALL

WALL HUNG CABINETS, &
WALL HUNG EQUIPMENTS,
FUME HOODS

N\ |
"7 e

CLIP FLANGE

AND BEND WEB
EACH END. ATTACH
TO STUD WITH

2-#12

m Ul, WIDTH AS STUD
| \ \——STUD FLANGES
| SHALL NOT BE CUT
LENGTH AS |
REQUIRED TO
SUPPORT ITEM 18GA. MIN.
METAL STUD
TN
6” x 1 1/4" x 16GA. TRACK e To /ﬁff‘;‘“\r N
CHANNEL ‘NOTCH AND ~ L
FASTEN TO STUDS w/ N -y %}\%&
s—frzx/2 sms. A § {g‘%y -
NOTE—" "~ /M%%N\\ f’j \\ I f< /
/”NOT ALL ITEMS REQUIRING WALL BKCKING HAVE BEEN LISTED. N Se—e—
/
9 1 B BACKING PLATE SCHEDULE . /1 ,o-v-0

S.M.S. MIN =

MOUNT ITEMS TO PLATE
WITH #14 SELF—TAPPING
SCREWS U.O.N.

=1

l ~—— 16GA. MIN. METAL

BLOCKING SAME

4 WEB OVIDE T :
TR0 TRMMER i \_CLIP ANGLE EA. SIDE
SEE 9.2B
; |
—H— ALTERNATE i DOUBLE STUDS
R WELD @ EA. '
| JAMB STUD (FULL HT.)
| IN LIEU OF _
| CLIP ANGLES - /}nr
14
i ~——TRIMMER IRt
JS—HL - stups Ii”;;ll-nwngpLE ?)UD%
1 LL HT.) FOR
WINDOW SILL 1/~ 1%__12 HHH% HEADER WIDTH ("L”)
8 i GREATER THAN 7'—0"
STEEL STUDS CLIP ANGLE g HEADER PER 9.1M
PER DETAIL TOP & BOT. i:i
9.2A SEE 9.2B i
i
| ,
#10 SM.S. Hﬁi
S Fee” -+ /
HE il
EA. SIDE / 1 1/ u””; * T ¢ \TYP-
CONT. 18GA. 8 I 5 15@12
DEEP LEG i
TRACK o fad
] "
AL
HEADER PER—— (OPTIONAL
/"”\f \ NOTE:
LINTEL SECTION ELEV. AT JAMB

if
i
|

16GA.
CONT.

SILL // \
BEND~ e T

MTSDOO1B-M7P2

TOP TRACK

m

~9.1G uneL SECTION

WELD BOTTOM OF JAMB
STUDS TO BOTTOM TRACK
SIMILAR TO TOP TRACK.

3/4"=1"-0"

]

om—

]

i/é

TN A

MTSD003~-M7P2

#10 S.M.S. @ 870.c, TYP.

|
| |
| BOT. TRACK
@) 1§ FLG |
/ a@*; fjf..%% : L HEADER STUD,
( AN /oot @~E§5\<'N’ UON. ] SEE SCHEDULE
\\\% L K Q;Z: iﬁg ¥

OPTIONAL

WELD

SEE SCHEDULE

TRACK, THICKNESS TO
MATCH HEADER STUD
”//
1 1/2016

TYPE C — METAL STUD WALL
WALL HUNG LAVATORIES &

PLUMBING FIXTURES, GRAB BARS,

TV MOUNTS (120§ MAX.),
DRINKING FOUNTAINS

18GA. MIN.
METAL STUD

AS REQUIRED FOR
PROPER MOUNTING OF
EQUIPMENT, 18" MIN.;

7 1/2” AT GRAB BARS

NOTE:

LENGTH AS

REQUIRED TO

SUPPORT ITEMS

MOUNT (TEMS TO PLATE
WITH 1/4"¢ SELF-TAPPING
SCREWS U.O.N.

16GA. MIN. METAL
BLOCKING SAME WIDTH AS
STUD. SEE 9.1B FOR
CONNECTIONS

STUD FLANGES
SHALL NOT BE CUT

7GA. PLATE

4—§#12 SMS.

EACH STUD, TYPICAL
3—#10 S.M.S. MIN.

NOT ALL ITEMS REQUIRING WALL BACKING HAVE BEEN LISTED.

9.1 C BACKING PLATE SCHEDULE 1/2"

AT GRAB BARS

— 1 ’__O»

MTSDOO1C-M7P2

————— CONC. ON METAL DECK
i i

’ 327 LAP L STUDS PER PLAN
-..E\f.. ‘f\f' ‘ﬂf
[ ¥ ¥
H 1) H
1 I 1
=il | H 1 §
&--——- iEF‘“—u—A-{;%F' ----- -L._.I”.__.___.
i | J
I 0 ¥ COLD ROLLED BRACE
:i TR I TYP.
| il 1 .
BN Iy It
ELEVATION
1 1/2" x 16GA. COLD ROLLED
BRACING CHANNEL CONT.
- (SPLICE BETWEEN STUDS)
POSITION TH(RU STUD
PUNCHOUT (MIN. 32" LAP
NOTE ‘ T 3 /' SPLICE) w/ 2-#8 EA.
B Py T END, CHANNELS NEST
| INTO EACH OTHER (NOTE 1)
]
|
£2x2x16GA. x STUD
o ] WIDTH MINUS 1/4” AT
| ! EA. SIDE (NOTE 1)
TYP: |
f ¢ : 2-#10 SMS.
2-#10 S.M.S. —/ NOTE: |
(NOTE 1) 1. USE EITHER WELD TO CONNECT

SECTION

BRACE CHANNEL TO STUD OR
£2x2 WITH SCREWS.

9-.1 H STUD LATERAL BRIDGING

3/4"=1"-0"

#10 SCREW
TO EACH
FLANGE OF
EA. STUD

CONC.
SLAB
H

27 MIN. '
EDGE DISTANCE

=N

1.5D OR
127 MIN.

67 MIN.

ALTERNATE

L D
SHOWN OPENING xggzopmms
/ WIDTH = 367
DBL. STUD
-x_\/u_\/\_L
9 1 L LINTEL SECTION - BNTERIOR
R = NON-BEARING WALL e 170"
| MTSDOO S C—-M7P2
/™
INTERIOR STUD #10 SM.S.
TRACK \ @ 1270c.c. TYP.
< \ TRACK <.
EXTERIOR v
STUD STANDARD
v 18GA. STUD
OR TRACK MIN.
INTERIOR STUD —\ /
P ]
| |
> \\ e
#10 %M.s.—*/ ?g\‘EXTER#OR STUD
@ 12%.c. TYP.

9 1 R TYPICAL TEE INTERSECTION PLAN

1

/2 =1 =0

MTSDOO &3 —-M7P2

TvP.
ADDITIONAL STUD BELOW ———  ---======= . 1 FEYERN
1 1/2016
OPENING |  HEADER ADDITIONAL REMARK
| “wiotH STUD STUD BELOW | REMARKS
= UPTO | 5y . NA.
P10 | 2-4x16 e
4’—1” TO et A
270 | 2-e7x16 ca N.A.
8,""1” T0 —fi® N.A.
o0 | 2814 oA
10°=1" TO| o_ 4 1-14 GAx 2" FLG.
14—o7 | Z710XT4 GA WAl WIDTH MIN.
14'=1" TO| o _ 1o 1-14 GAx 2" FLG.
230" | 2712 x4 CAL Al wiDTH MIN.
9-1 M TYPICAL HEADERS, U.O.N. 1 1/2°=1"—0"

MTSDO18A-M7PZ

YA CLIP TRACK FLANGES.

EXTEND WEB AND LAP
WiTH WEB OF
INTERSECTING TRACK
4-#8 SMS.

A

[ /T" "

] ] i

i i l ~

. | !

T L

AT WALL CORNER

CLIP TRACK FLANGES.

V- % EXTEND WEB AND LAP
WITH WEB OF
INTERSECTING TRACK
4—§8 SMS.
Ol | Ol -:"*:-"‘—j r/“
i x i <
I , b, o |
o - L :
I
TRACK | |
AT TEE INTERSECTION
TYPICAL TOP TRACK
9 1S lNTERSECTlON DETAIL 1 1/2°=1"-0"

MTSDO14-~-M7P2

9.1N tERIOR STUD ATTACHMENT

STD. UNPUNCHED
TRACK w/ POWDER
DRIVEN FASTENERS
_ © 327.c.(HILTI X-DNI)
©0.145%8 x 1 1/2”
(ICBO #2388)

STEEL STUDS S.AD.
& DETAIL 9.2A

MTSDOQ4A-M7P2

NOTE:

THESE DETAILS ARE FOR
INTERIOR NON-STRUCTURAL

WALLS w/ NO VENEER.

SLAB DEPRESSION ‘—\
v 1

STL. STUDS S.AD.
& DETAIL 9.2A

STD. UNPUNCHED TRACK
w/ 1/2°¢ x 10" ANCHOR
BOLTS @ 48"0.c. NO SHOT

PINS ALLOWED IN CURBS.
LOCATE BOLT @ 6" FROM
END OF TRACK

S.A.D.

43 @ 187.c.

SLAB DEPRESSION
WHERE OCCURS

DEPRESSION
PER PLAN

L i
1 LD
. :
[P} {al
© ©
[ )
[ P
[ i
11 [
I P
[ P
o o)
1.50 OR ol B
» b
127 MIN. %A Ll F3—#5 conT
fal .

1—#4 CONT. T&B

67 MIN.

] 2—#5 ...M
CONT. ‘

3/4°=1"-0"

BRIDGING IS REQD

1. AT ALL WALLS GREATER THAN 10’ IN

HEIGHT.
2. WALLS THAT ARE SHEATHED ON
FACE OR NO FACE.

3. AT ALL BALLOON FRAMED ATTACHMENT

LOCATIONS.
SPACE BRIDGING AT 10'c.c. MAX.

ONE

e M\MM

SPLICE TGP

TRACK w/ SAME

GA. TRACK x

LONG w/ 6-#10

2'-0"

MTSDOOS—M7P2

‘~W

~

DO NOT LOCATE
SPLICE WITHIN

2-0" OF WALL /BT - }5}?\
‘ J

| OPENING JAMB

9.1D

' | ey . |NoTE: "
—NO ATTACHMENT OF \ Zeul % |USE 14GA. BENT PLATE
SHEATHING OR FINISHES 2 O | AS COMPENSATION
WITHIN THIS AREA < CHANNEL AT SLOPE
e | 16 GA ROOF FRAMING
| COMPENSATION P
( ) CHANNEL w/ N
OO f 1) 1 1/2” FLANGE /
T i WIDTH
s 91 }
X0 | ! #10 SM.S.
; { EA. SIDE
, 2" FLANGE
WIDTH 4—#12x3/4" TO
CEILING JOIST & TRACK
CEILING JOIST FRAMING 'l38§~§gNgbgﬁgKTo EACH
WHERE OCCURS ‘\ STUD & #8 SCREW @ TOP
N S & BOT. FLANGE OF EACH
o ? — CEILING JOIST
I S £2x2x14GA. CLIP
EACH JOIST
1.5 D2 OR 127 MIN.———
N /i’ D ,!, 1.5 D OR 12" MIN.

TYPICAL WALL TO CEILING AND WALL
TO FLOOR/ROOF CONNECTION 3/4-1—0"

8'-0" MAX,

MTSDO02D~M7P2

SOLID BLOCK SAME GA.

20GA. (MIN.) x 1 1/2”
EA. SIDE OF WALL WITH
STRAP GAUGE TO MATCH

4—#8 SCREWS TYP. EAC

OF SPLICE)

w/ WEB BENT AND ATTACHED TO
STUDS w/ 2—#8 SCREWS

OR TRACK, WHICHEVER IS THICKER

(OR MIN. 3—-#8 ON EACH SIDE

AS STUDS

SPLICE
POINT

CONT. STRAP ON
NO SHEATHING.
GAUGE FOR STUD

H BLOCK

T [~

[

BACK-FO B

TN

BLOCKING TO OCCURS AT EACH

1—#8 SCREW AT EA(:Hx :
INTERMEDIATE STUD
//IQ(P WALL STUDSW

END OF WALL OR ADJAC

ENT TO N

EACH OPENING AND AT 8—-07o.c. ]

~ MAXIMUM BETWEEN & SPACED '
—070.c. MAXIMUM
e, S, — . MMM@" 1

VERTICALLY ® 4 -070.c

‘ TYPICAL WALL AND CEILING
9-1 J BR!DGING OR BLOCKING 3/4"=1'-0
3 STUDS TYP.
#10 SMS. ~/ T
@ 127.c. .
- STANDARD
18GA. STUD
OR TRACK MIN.
S YN
: L
STUD ‘~ <

ALTERNATE

9.1 P _ TYPICAL WALL CORNER PLAN 1/27=1'=0"

MTSDOO7-M7P2

ADD WELD IF CUIP ANGhE
OCCUR AT ONE SIDE ONLY

\

CONTINUQUS
TRACK ERE
0oCC

1
I El\—fﬂl—w}

T 1

DOUBLE STUD

ADD BRIDGING AT 4'—0%0.c. WHERE SCREWS EA. END / MA% ——
SHEATHING IS AT ONE FACE OR \ : / _ N
NEITHER FACE OF STUD, SEE \, T L
9.1H OR 9.1 ; = | < /
TOP TRACK /
STUD @ 1
1670.c.
! A
BN } x|
. W/NDOW I . O
9.1P¥ or poor |l "IN v3.1R =
_ OPENING N ' ﬁg CLIP ANGLE ON
SILL PER il Z BOTH SIDES OF
9.1G \ HEADER PER | ; JAMB ASSEMBLY
‘ 9.1M e  WHERE TRACK
== EXTENDS PAST JAMB.
_————FOR DETAIL @ - SEE 228
FULL HT. JAMB - A BACKING SEE |
. 1A &
PER 9.1G \\ \ ‘g'j?;’ 218 -
?\ 7 ' 3 L 4 3 () * M
BOTTOM TRACK — /4= { \ T\ S
, 6" MIN. & -
GROUT OR SHIM w/ STEEL PL’s To  MAX AT Loe- i1 JAMB
'UNDER AS REQD. AT CONC. ENDS FOR 216
FOR FULL BEARING AFTER

DEAD LOAD IMPOSED

FASTENERS

9 1 T TYPICAL METAL STUD WAU "'LEVATION

‘\” MTSDO11-M7P2

| 9 1U JAMB DETiA\IL BOTTOM ATTACHMEN'!

- MTSDO09-M7P2

3’=1"-0"

GENERAL NOTES
(V)

architecture
p lanning
interiors

Bunton Clifford Associates, Inc.
210 Hammond Ave
Fremont, California %mg
[T] 510.445.1000
[F] 5104451006
www BCAIncOnline.com

ARCHITECT

ENGINEER

. This sheet is part of a set and is not fo be used alone.

. This sheet is not to be used for construction unless the architect's
stamp and signature appear on the drawings and the status box
indicates drawings have been released for construction.

. These plans and prints thereof, as instruments of service,
are owned by the architect and are for use on this project
only. Reproduction and/or distribution without the prior
written consent of the architect is forbidden.

. Copyright Bunton Clifford Associates, 2007

[ZWS =N

F-N

REMARKS DATE
A
A
P
5 A
4
(7]
N
o\
DATE
S (O psapLancHECK
<
g O DSA BACK CHECK
£ O zooin @Dmss
£ O construcTiON

FILE NO. 41-C1

{DENTIFICATION STAM
DIV. OF THE STATE ARCH!TECT

01— 110074

AC FLS T~
DATE _ _N._A_R_l_uﬁ

BUILDINGS 5 & 6
RENOVATIONS

- San Mateo County Community
College District

DSA BACK-CHECK

CANADA COLLEGE
4200 Farm Hill Boulevard
Redwood City, CA 94061

LIGHT GAGE STEEL
TYPICAL DETAILS

Date - Drawing Number

Scale
AS NOTED

12/31/08 89 ’]

Projest Number
070?§H




